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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following word. 

Question 1: 
A. committee 

B. referee 

C. employee 

D. refugee

Question 2: 
A. alcohol 

B. comment 

C. chemical 

D. proceed

Question 3: 
A. company

B. atmosphere
            C. customer

D. employment

Question 4: 
A. apprehension        
B. preferential     
C. conventional     
D. calculation

Question 5: 
A. satisfactory     
B. alter     
            C. military     

D. generously

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6 : Not until the end of the 19th century ______ become a scientific discipline.


A. plant breeding has 
B. did plant breeding 



C. plant breeding had 
D. has plant breeding

Question 7: 
When friends insist on ______ expensive gifts, it makes most people uncomfortable.

 

A. them to accept
B. they accepting
C. their accepting
D. they accept

Question 8: 
_________ that she burst into tears.
A. Such was angry girl


B. So angry she was
C. She was angry so


D. Her anger was such

Question 9: They always kept on good ______ with their next-door neighbors for the children’s sake.

 

A. will


B. friendship

C. terms

D. relations
Question 10: 
They stayed for hours, ______ my mother was very annoyed about.

A.  that 

B. which 

C. this


D. whom

Question 11: 
The vase is definitely not_______, but just a very good imitation.

      

A. real


B. factual 
           C. genuine

D. true

Question 12: 
I walked away as calmly as I could. __________, they would have thought I was a thief.

A. In case

B. If so

C. Or else

D. Owing to

Question 13: 
Please answer the phone for me. I don't want to speak to ______ it is

A. whoever

B. whatever

C. whenever

D. wherever
Question 14: 
By the time Brown’s daughter graduates, __________ retired.
A. he


B. he has

C. he’ll being

D. he’ll have

Question 15: 
__________the storm, the ship couldn't reach its destination on time.



A.  Because of
B. Incase of

C. In spite of

D. But for

Question 16:  While ________ to help Tim with his math, I got impatient because he wouldn’t pay attention to what I was saying.

A. I am trying

B. having tried
C. I try


D. trying

Question 17: The problem is difficult, therefore ______ students could answer it.

A. a great number of
B. a lot of

C. few


D. a few
Question 18: 
I was in a such hurry that I left one of my bags _________

 


A. out 


B. behind 

C. on


D. aside

Question 19: 
Do you think you can meet the _________  given by our teacher ?. 

A.  deadline  

B. line   

C.  dead   

D face 

Question 20: 
The twins look so much alike that almost no one can____them____

      

 A. take....apart
B. tell....away

C. tell....apart

D. take....on

Question 21: 
Everyone can join our club, _____________  age and sex.



A. not mention
B. in case of

C. in place of

D. regardless of

Question 22: The strike was caused by the_________ of two workers.

A. dismiss

B. dismissing

C. dismissed

D. dismissal

Question 23: Look! The yard is wet. It______ last night.




A. must rain
B. couldn't have rained 
C. must have rained
D. should have rained

Question 24:  There was a terrible storm on the night we first stayed at the campsite but we were alright with our tent and were dry as a ___________.



A. bone

B. cover

C. coat


D. sheet

Question 25: James Cook,______ , also discovered tje Hawaiian Islands.

A. by exploring the South Sea he reached Australia.

B. explored the South Sea and reaching Australia.

C. who explored the South Sea and reached Australia.

D. explored the South Sea then reached Australia.

Question 26: The factory was _________ so the management tried to cut costs by making some workers redundant.

A. competition
           B. competitive
            C. uncompetitive
D. competed

Question 27: 
'These tablets really are ______. My headache’s much better now.' 

A. affective

B. effective

C. efficient

D. affected
Question 28: 
“I understand you don’t like opera. _____ I go at least once a month.”

         

A. On contrast
           B. In contrast           
C. In the contrast
D. On the contrast

Question 29: 
He has always looked _______ his elder brother.
A. up to

B. back on

C. into


D. up and down

Question 30: 
A: Do you mind if we schedule the meeting for 11 o’clock?
B: Well, actually, I __________ earlier
A. will prefer it 



B. would prefer it to be 


C. am preferring 



D. should prefer it will be
Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions or the correct question to each of the following answers .

Question 31: “Would you mind closing the window?” – “______________”

A. Not at all. I will close it now.         
            B. Yes, very soon.            

C. Yes, certainly.
           


D. Yes, I would. Go ahead.
Question 32: 
Ellen : "_________________?"       - Tom : "He's tall and thin with blue eyes." 

      

A. What does John look like                     
B. Who does John look like 


      

C. How is John doing                                  
D. What does John like 


Question 33: “Your parents must be proud of your result at school”. – “______________”

A. Sorry to hear that.



C. Of course

B. Thanks. It’s certainly encouraging.
D. I am glad you like it.

Question 34: 
Customer: Can I have a look at that pullover, please?
Salesgirl: “__________.”

A. It's much cheaper



B. Which one? This one? 

C. Sorry, it is out of stock.


D. Can I help you?

Question 35: 
 A: I had a really good weekend at my uncle’s.       B:  “__________.”
      

A. Oh, that’s very nice of you                       B. Congratulations 
      

C. It’s pleasure                                             D. Oh, I’m glad to hear that


Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 36: 
In very early times, people around the fire were entertained by storytellers with stories of.

                                                A                  B                            C    

heroes’ victory and wonderful actions

                  D 
                                

   







                                                      

Question 37: 
When I got home, Irene was lying in bed thinking about the wonderful time she has  had.

                  A                             B                        C 



       D           

Question 38: 
People tend to make a lot of shopping at Xmas time.

                                               A          B                     C             D

Question 39:
Stuart stopped to write his letter because he had to leave for the hospital.

                                                    A                        B                          C                 D     

Question 40: 
A fully grown male mountain lion may be eight long feet. 

                                   A                      B                        C                D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions.

Question 41: 
There were over two hundred people at Carl's trial, most of whom believed that he was not guilty of the crime.
A. Carl had not committed the crime, and so more than 200 people came to his trial to show their support.

B. When it was announced that Carl had been found not guilty of the crime, there were over 200 people in the audience at his trial.

C. Over 200 people coming to Carl’s trial must have influenced the fact that he was not found guilty of the crime.

D. The majority of the more than 200 people at Carl’s trial didn’t think that he had committed the crime.
Question 42: 
Ann had the TV on when her parents entered the room.


A. The TV was on a table in Anne’s room.


B. Anne’s parents told her to turn on the TV.

C. Anne noticed her parents watching TV.


D. Anne’s parents found her watching TV.

Question 43: “You should have finished the report by now.” John told his secretary.

A. John reproached his secretary for not having finished the report.

B. John said that his secretary had not finished the report.

C. John reminded his secretary of finishing the report on time.

D. John scolded to his secretary for not having finished the report.

Question 44: Madeleine wears high heels to look taller.

A. In order to look taller, Madeleine wears high heels.

B. So that to look taller, Madeleine wears high heels.

C. Madeleine wants high heels to make her taller.

D. Madeleine buys high heels to look taller.

Question 45:
Even though some events were cancelled, thousands of people attended the festival.


A. No matter how many people attended the festival, some events were cancelled


B. In spite some cancelled events, thousands of people attended the festival.


C. As some events were cancelled, thousands of people attended the festival.


D. Despite the cancellation of some events, thousands of people attended the festival.

Question 46:
It couldn’t have been Mary that you heard shouting last night, as she is vacationing in Vermont at the moment.
A. I think Mary is on holiday in Vermont now, so you may be wrong in thinking that you heard her yelling last night.

B. Right now, Mary is having a holiday in Vermont, so it is impossible that it was she whose shouting you heard last night.

C. Are you sure it was Mary who shouted to you last night, because, as far as I know, she is on vacation in Vermont at the moment?

D. If it was Mary that you heard yelling last night, then she can’t be taking a vacation in Vermont at the moment.
Question 47:
Both of the lifts were out of order.



A. Either of the lifts was not in right order.
B. The order of the two lifts was wrong
 



C. Neither of the lifts was working.

D. Neither of the lifts was in order. 

Question 48: He was sentenced to six months in prison for his part in the robbery

A. He received a six months in prison for his part in the robbery.

B. He received a six-month sentence for his part in the robbery.

C. For his participation in the robbery, he had been in prison for six months.

D. For his participation in the robbery, a prison had been given to him for six months.

Question 49: 
It is possible that we won't have to take an entrance exam this year.

A. Perhaps we don't have to take an entrance exam this year.

B. We must take an entrance exam this year.

C. We mightn't take an entrance exam this year.

D. It is very likely that we will take an entrance exam this year.

Question 50: The crowd became increasingly angry at the long delay. 



A. The crowd became very angry because the delay was so long. 


B. The more increasingly the crowd became, the longer the delay was. 


C. The longer the delay was, the angrier the crowd became. 


D. The more the crowd became angry at the delay, the longer they feel. 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60

      The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikipedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

     Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.

     But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 51:  Wikipedia is a(n) ___________ .

A. book

B. journal

C. article

D. dictionary

Question 52:  Wikipedia is written by___________.

A. paid written
B. millionaires
C. normal people
D. world experts

Question 53:  The phrase “these writers” in the first paragraph refers to _______.

A. ordinary readers   



B. ordinary people           

C. encyclopedia experts 


D. every subject

Question 54:  The phrase “the word” in the second paragraph refers to ________.

A. knowledge

B. encyclopedia
C. writing

D. collection

Question 55:  Microsoft’s Encarta is cited in the passage as an example of _______.

A. CD-ROM dicitonary


B. printed encyclopedia

C. online encyclopedia


D. updateable online encyclopedia

Question 56:  The word “brainchild” in the 2nd paragraph of the passage can be best replaced by_____.

A. born

B. child

           C. product

D. father

Question 57:  The word “approach” in the third paragraph of the passage means________. 

A. idea

B. time

                       C. method

D. writing

Question 58:  The user of Wikipedia can do all of the following EXCEPT__________.

A. have access to information           
B. determinate the website          

C. modify information
       

D. edit information

Question 59:  We can say that Jimmy Wales _______.

A. became very famous after the formation of Wikipedia                      

B. is the father of Wikipedia

C. made a great profit from Wikipedia                                                  

D. decides who can use Wikipedia

Question 60:  Wiki software enables _______.

A. exchanging articles           

            B. a purchase of information                  

C. limited access
             

D. editing

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70

Fiberscopes are one of the most are one of the most important outcomes of he science of fiber optics. Fibers made of glass and transparent acrylic plastic are capable of conveying light energy, and when thousands of these fibers are combined in what is called a fiberscope, they can transmit images. The most common fiberscopes contain about 750,000 fibers, each 0.001 centimeter, or 10 microns, in diameter. For certain uses, the diameter of the fiber may be as small as 5 microns.

Fiberscopes have a wide range of applications. In the medical field, physicians use fiberscopes to examine internal organs and as an aid in delicate surgeries. Miniature probes have also been developed to view muscle fiber, skin tissue, and blood cells. Fiberscopes have also found varied uses in industry, particularly to inspect or control operations in inaccessible areas. Bundles of fiberscopes fused together in a solid plate, called a faceplate, are being used in the manufacture of television tubes and other cathode-ray tube devices.

The most far reaching applications of fiber-optic technology are in communication. Optical fibers carry voice messages for telephone service. The sound of the voice is electronically broken down into thousands of pulses per second, which causes a transmitting laser to send coordinated pulses of light through the optical fibers. At the receiving end, the light pulses are converted to electrical signals and the voice message is reconstructed. Light-wave communication systems can handle an immensely greater number of telephone calls and television programs than the current system, and they will form the basis of the “electronic superhighway” expected to crisscross the nation in the near future of the information age.

Question 61: How do optical fibers carry voice message?

A. By fusing bundles of fiberscopes into a faceplate
B. By converting electrical signals to light pulses
C. By sending coordinated electrical pulses through optical fibers
D. By using cathode-ray tube devices.

Question 62: The word inaccessible in line 9 means

A. difficult to find



B. extremely small


C. hard to reach



D. impossible to climb

Question 63: 
It can be inferred from the passage that fiberscopes
A. have more uses in industry than in medicine
B. will play a major role in the information age
C. will decrease in importance as they become more common
D. have reached the peak of their development

Question 64: Where in the passage does the author discuss the uses of miniature probes in medicine?

A. lines 2-7

B. lines 6-8

C. lines 14-16

D. lines 17-19

Question 65: The main topic of the passage is
A. The birth of the “electronic superhighway”
B. The various applications of fiber-optic technology
C. How fiberscopes have enhanced the field of medicine
D. How sound may be transformed into light

Question 66: As used in line 18, the word they refers to
A. fiberscopes



           B. light-wave communication systems
C. television programs


D. television calls

Question 67: The word converted in line 15 is closest in meaning to
A. transferred

B. transformed
C. transmitted

D. changed

Question 68: The word coordinated in line 14 is closest in meaning to
A. separated

B. organized

C. transformed
D. deconstructed

Question 69:
Fiberscopes are being used to do all of the following EXCEPT
A. assist in delicate surgeries

             B. control operations in inaccessible areas
C. convert light pulses to electrical signals
 D. transmit images

Question 70: The passage will most likely be followed by a discussion of

A. homes and businesses of the future
B. the structure of fiberscopes
C. additional uses of fiberscopes in industry
D. the use of fiber optics in the electronic superhighway

Mark the letter A,B,C or D on your answer sheet to indicate the correct word or phrase to fill in the blank in the following passage from  71 to 80.    

Why do people like to chew gum? Some people say they like the taste____71____say they can think better if they chew gum. Some people chew it when they have some boring work to ____72____.Others chew gum when they are nervous.

Gum is a____73____of things. For many years gum companies made gum from chicle. Chicle is a natural gum from a tree in Mexico and Central America. Now companies use plastic and rubber made from petroleum____74___of chicle.

Gum must be soft____75____ you can chew it. A softener keeps it soft. The gum company makes the softener from vegetable oil. A sweetener makes the gum sweet. The sweetener is usually sugar. Then the company___76___   the flavor.

Thomas Adams made the first gum from chicle in 1836. ___77___, chewing gum was not new. The Greeks chewed gum from a tree____78___ 2,000 years ago. Mayan Indians in Mexico chewed chicle. Indians in the Northeastern United States taught Europeans to chew gum from a tree there.

    People first made bubble gum in 1928. Children like to___79___ bubble with bubble gum. Some university students do___80___.

Question 71:  A. The other

B. Others

C. The others

D. Other

Question 72: 
A. make

B. get


C. do


D. carry

Question 73: 
A. mixture

B. roll


C. fix


D. connection

Question 74:
A. aside

B. apart

C. inside

D. instead

Question 75:  A. so that

B. then

            C. for


D. that

Question 76: A. puts


B. places

C. adds

D. fits

Question 77: A. However

B. More

C. But


D. Though

Question 78: A. more

B. over

            C. above

D. than

Question 79: A.  turn

            B. set


C. pass

D. blow

Question 80: A. so


B. too


C. then

            D. same

----THE END---
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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest or whose stress pattern is different from the others in each of the following questions.
Question 1. a. tough
b. much
c. thorough
d. enough 

Question 2. a. subsidies
b. stagnant
c. ethnic
d. substantial

Question 3. a. renovate
b. policy
c. dissolve
d. congress

Question 4. a. uses
b. purses
c. agrees
d. pleases
Question 5. a. astronaut
b. technique
c. domestic
d. incredible

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6. The weather, recently, has been  ……….mild for December.


a. surprisedly
b. surprising
c. surprisingly
d. surprised

Question 7. ’Will be there a lot of people at the concert tonight?’     ‘…. There aren’t usually very many.’


a. I don’t expect so.
b. I expect not.
c. I expect so.
D. I think not.

Question 8. ‘Thanks a lot.’          ‘……………’


a. Don’t mention it.
b. Oh, that’s too bad.
c. Oh, I’m sorry to hear that.   d. Of course.

Question 9. You ……give me a lift. I can easily catch a bus.


a. don’t have
b. needn’t
c. don’t need
d. mustn’t
Question 10.I always dream of having a sports car…………


a. in my possession
b. on my own
c. of my own
d. of me

Question 11. The water workers’ claim for a ten percent pay rise has been under ……by the Government.


a. consideration
b. inquiry
c. regard
d. application 

Question 12. He ….. a rare disease when he was working in the hospital.


a. took
b. suffered
c. infected
d. caught

Question 13. If you ……..to my advice in the first place, you ……..in this mess now.


a. listened/wouldn’t be

b. had listened/wouldn’t be  


  c. had listened/wouldn’t have been
d. are/will be

Question 14. I’m not at all put out by their decision.  …….,I welcome it.


a. All the same
b. On the contrary
c. In contrast
d. On the other hand

Question 15. You’d rather stay at home tonight, ……you?


a. hadn’t
b. didn’t
c. wouldn’t
d. won’t

Question 16.I was passing their house, so I …..Claire and Michael.


a. got on with
b. came up with
c. dropped in on
d. ran into


Question 17. In elections, politicians try to get old people to vote for them, it’s called the ….vote.


a. white
b. blue
c. old
d. grey

Question 18. In the end, I just lost my ……..and started gabbling incoherently.


a. head
b. mind
c. brain
d. intelligence

Question 19. We all ………working with you. You are so dynamic.



a. think
b. judge
c. believe
d. appreciate

Question 20. …….his dangerous driving, Barry has never been caught by the police.


a. In spite
b. Although
c. Despite
d. However

Question 21. The Government hopes to ………its plans for introducing cable T.V.


a. carry out
b. turn out
c. carry on
d. keep on

Question 22. To give an effective speech, …….is the delivery that is most important.


a. it 
b. which
c. there
d. that

Question 23…….parents of Thomas claimed that he was at ……home at the  time of …….robbery.


a. X-X-the
b. The –the-the
c. X-X- a
d. The –X- the

Question 24. Martin tried on  three jackets, ……….fitted him.


a. none
b. none of which
c. none of them
d. which

Question 25. Hello! Aviation Electronics? Could I speak to Mr.John on ……..8183, please.


a. branch
b. extension
c. system
d. exchange

Question 26. Joe had his car ….last month and then ……it.


a. fix/sell
b. fixed/sell
c. fixed/sold
d. to fix/to sell 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks .                                    

LISTENING


Human beings have a strong need to 27…….their experiences and problems into words. That is why everyone 28………a ‘friendly ear’-someone who is 29……to listen to  their troubles and joys. But few people 30…….. what a complex skill listening is. To be a  good listener requires great 31…….of concentration, which can only be gained through practice.


There are two reasons why listening is  often such hard 32….. . The first is simply that people much prefer to speak. How often have you 33…….what someone has said because you were thinking about what you were going to say in 34……….? The second reason is that people speak too slowly. The average speed is about 125 words per minute, 35………is not fast enough for the human brain. It 36……..too much time for the concentration to fail, as the brain tries to 37……..itself busy with other , irrelevant thoughts.


Next time you are in a listening 38………, try to predict what the  speaker is going to say. Ask yourself questions about what is being said, and 39……..if the speaker answers them. Finally, make quick summaries in your head of the main 40……..that  have been made. All of these things will 41…….you to concentrate and make you a better listener.

Question 27. a. say
b. put
c. tell
d. place

Question 28. a. approves
b. applauds
c. appreciates
d. attracts

Question 29. a. agreed
b. wanting
c. capable
d. willing

Question 30. a. realise
b. believe
c. relate
d. detect

Question 31. a. forces
b. skills
c. powers
d. energy

Question 32. a. job
b. work
c. task
d. act

Question 33. a. lost
b. dropped
c. slipped
d. missed

Question 34.a.report
b.answer
c.reply
d.turn

Question 35.a.that
b.what
c.this
d.which

Question 36.a.lets
b.allows
c.makes
d.admits

Question 37.a.keep
b.stop
c.maintain
d.hold

Question 38.a.station
b.circumstance
c.atmosphere
d.situation

Question 39.a.look
b.watch
c.see
d.tell

Question 40.a.marks
b.points
c.topics
d.ideas

Question 41.a.aid
b.serve
c.give
d.help

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

Statistics regarding cigarette smoking are anything but encouraging. The Federal Trade Commission recently announced that in 1980 Americans purchased 628.2 billion cigarettes, an appallingly greater number than ever before. The average smoker consumed 11,633 cigarettes, of which 44.8 percent were low-tar cigarettes containing less than 15 milligrams of tar. In 1968 the average tar content was 22 milligrams.

Despite the fact that every cigarette pack has a printed warning from the Surgeon General, those who still smoke are smoking more heavily. Many people have forsworn smoking in fear of lung cancer. The American Cancer Society reports that death rates from lung cancer have escalated, whereas those for other major cancers have leveled off or declined. Last year 111,000 Americans died of lung cancer, while it is estimated that 117,000 will succumb this year. Lung cancer heads the list in killing 35 percent of males who die from cancer. Lung cancer accounts for  17 percent of women’s cancer deaths. An estimated 440,000 deaths from cancer will occur this year, 9,000 more than the previous year. Lung cancer accounts for two thirds of the increase. Although many cancer patients have survived the disease, the prognosis for lung cancer patients is most disheartening. Ninety one percent of all diagnosed cases of lung cancer do not survive.

Question 42. You may infer that low-tar cigarettes 


a. reduce the dangers of smoking
b. appeal to a majority of smokers


c.cause lung cancer

d. have the Surgeon General’s approval

Question 43. Statistics show  average smokers smoke


a. less than they did in the past
b. more than they did in the past



c.the same as they did in the past
d.none of the above

Question 44.It is predicted that the number of deaths from lung cancer this year will be


a.reduced from the number last year
b.the same as the number last year



c.6,000 more than last year
d.111,000

Question 45.The percentage of the women’s lung cancer deaths is


a.equal to that of men’s lung cancer deaths



b.rising annually


c.about half the percentage of men’s  cancer deaths


d.an indication that women are not susceptible to lung cancer.

Question 46.You may infer from the passage that lung cancer


a.can be treated effectively
b.is always related to smoking


c.will cause cigarettes to be taken off the market   d.currently has no infallible cure

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 47.(A)It’s time  you (B)went home, but (C)I’d rather you (D)stay here.

Question 48.(A)However well he did at school, he (B)never seemed (C)to be satisfied (D)at the result.

Question 49.I (A)hadn’t understood his directions. (B) However,  I (C)asked him  to repeat what (D)he’d said.

Question 50.(A)Which of (B) these two computers (C)is the (D)most modern?
Question 51.The children forgot (A)picking up the (B)note from the office and (C) now they (D)are   worried.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.


A pilot cannot fly a plane by sight alone. In many conditions, such as flying at night and landing in dense fog, a pilot must use radar, an alternative way of navigating. Since human eyes are not very good at  determining speeds of approaching objects, radar can show a pilot how fast nearby planes are moving. The basic principle of radar is exemplified by what happens when one shouts in a cave. The echo of the sounds against the walls helps a person determine the size of the cave. With radar, however, the waves are radio waves instead of sound waves. Radio waves travel at the speed of light, about 300,000 kilometers in one second. A radar sends out a short burst of radio waves. Then it receives the echoes produced when the waves bounce off the objects. By determining the time it takes for the echoes  to return to the radar set, a trained technician can determine the distance between the radar set and the objects. The word ‘radar’ , in fact, gets its name from the term ‘radio detection and ranging’. ‘Ranging’ is the term for detection of the distance between an object and the radar set. Besides being of critical importance to pilots, radar is essential for air traffic control, tracking ships at sea, and for tracking weather systems and storms.

Question 52.What is the main topic of the passage?


a.the nature of radar
b.types of ranging
c.alternatives to radar
d.history of radar

Question 53.The word ‘dense’ could be replaced by ….


a.cold
b.thick
c.wet
d.dark

Question 54.Which of the following best describes the tone of the passage?


a.argumentative
b.imaginative
c.explanatory
d.humourous

Question 55.The phrase ‘a burst’ is closest meaning to ….


a.an attachment
b.a discharge
c.a stream
d.a ray

Question 56.The word ‘it’ refers to …


a.a radar set
b.a short burst
c.a radio wave
d.light

Question 57.Which types of waves does radar use?


a.sound
b.heat
c.radio
d.light

Question 58.The word ‘critical’ is closest meaning to…..


a.serious
b.severe
c.heavy
d.crucial

Question 59.The way radar works is compared to …


a.a burst of the river banks
b.the depth of a cave


c.the echo of sound against the walls
d.the eyesight in dense fog

Question 60.What might be inferred abour radar?


a.It takes the place of a radio
b.It gave birth to the invention of the airplane


c.It developed from a study of sound waves
d.It has improved navigational safety

Question 61.Which may be the topic of the next paragraph?


a.other uses of radar

b.uses of sonar technology


c.other technology used by pilots
d.a history of flying 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks .

You have 62…….heard someone say that the reason you caught a cold was that you were run-down. People generally accept that if you are under press or run-down, you are more 63………to get ill. But is this really true or is it just an old wives’ 64………?


The problem 65……..old sayings like this is that it is often difficult to prove 66……..they are true or not. If you ask people with colds if they are feeling run-down, they are almost certain 67…….yes. People without colds are more likely to say no. So, 68……..you can tell if it’s the cold that is making them feel run-down or the fact that they are run-down that is making them more likely to catch a cold?


Scientists at the Common Cold Research Centre ran a series of tests. They got 69…….without colds to attend the centre, 70……..they were first given a questionaire to complete. The questions measured the 71……of stress each of them was under. They were then deliberately injected with a cold virus 72……..left to see whether they developed a cold. After many people had been tested, the researchers looked for a link 73…….the measured stress level and the chances of catching a cold. They found that 74……the stress, the more likely the person was to catch a cold.


At the moment, it is not known why stress makes someone more likely to become ill, but now that the link has been found, researchers might be able to investigate 75……. . They may even find different ways of combating diseases.

Question 62.a.sometime
b.never
c.ever 
d.physically

Question 63.a.likely
b.able
c.capable
d.possible

Question 64.a.story
b.saying
c.tale
d.proverb

Question 65.a.for
b.with 
c.in
d.of

Question 66.a.that
b.whether
c.when 
d.why

Question 67.a.saying
b.to be saying
c.say
d.to say

Question 68.a.why
b.whether
c.that
d.how

Question 69.a.pioneers
b.characters
c.volunteers
d.beginners

Question 70.a.which
b.where
c.that
d.because

Question 71.a.number
b.amount
c.quantity
d.total

Question 72.a.and
b.which
c.therefore
d.but

Question 73.a.for
b.between
c.from
d.with

Question 74.a.highly
b.the highest
c.higher
d.the higher 

Question 75.a.mostly
b.farther
c.better
d.further

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions..

Question 76.He was driving so fast that he could have had an accident.


a.he didn’t have an accident although he was driving very fast.


b.an accident happened, and it was caused by his very fast driving.


c.if he had been driving very fast, he would have had  an accident.


d.he wasn’t driving fast enough to avoid an accident.

Question 77.Bill has no business going to Paris next December.


a.Bill went to Paris in December.
b.Bill runs a business in Paris next December.


c.Bill shouldn’t go to Paris next December.
d.Bill will open a business in Paris next December

Question 78.In the class of twenty, Jack is the third best student.


a.No other students in the class is as smart as Jack.


b.Two students in the class are smarter than Jack.


c.The class has only three smart students.


d.Jack is not as smart as  most of the other students.

Question 79.As far as I am concerned,you can do whatever you like.


b.You can do what you like providing that it is not too far.


b.In my opinion, you can do what you like.


c.What you like is not as much as what I am concerned about.


d.I am concerned about what you like.

Question 80.Jenny is so creative that we all can rely on her for original ideas.


a.Being creative, we can all rely on Jenny for original ideas.


b.Creative as Jenny is, we can rely on her for original ideas.


c.Jenny is such creative girl that we all can rely on her for original ideas.


d.So creative is Jenny that we all can rely on her for original ideas.
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 1: We  _____ for three hours and are very tired.

     A. are walking        B. have been walking               C. were walking
              D. had been walking 

Question 2: Thanks to the laser beams, at last, he could get rid of the __________birthmark on his face.

     A. normal

B. abnormal

  
C. abnormality  

D. abnormally

Question 3: _______________________ from Bill, all the students said they would go.

    A.  Except
            B.  Only
                    
  C.  Apart

   
D. Separate

Question 4: Not until a monkey is several years old ___________to exhibit signs of independence from its mother.

    A. beginning           B. does it begin                        C. and begin
   D. it begins

Question 5: These days almost everybody ___________the danger of smoking.

    A. know of                B. are aware of                        C. is aware about
   D. is aware of

Question 6: Had the drought not lowered the reservoir the ancient village_______________________

    A. wouldn't  be discovered
                                     B. wouldn't have been discovered

    C. can't have been discovered                                   D. can't be discovered

Question 7: It was not good to walk outside in ___________.

    A. such a fearful cold          B. such fear coldness       C. such fearful cold
D. so fearful a cold

Question 8: Mary:  “ Do you think it will rain ? “          Jenny: “Oh ! ________”

    A. I don’t hope.   B. I hope not.                          C. I don’t hope so  
D. It’s hopeless

Question 9: It is believed _____________ causes insomnia.

    A. too much caffeine which
   B. that too much caffeine 

    C. it in too much caffeine 
  
   D. too much caffeine that

Question 10: The train accident _____________ the other train’s departure by a few hours.

    A. sent back          B. called off                                 C. delayed
         D. retained

Question 11: Not only________  much bigger than any other planets, but unlike the planets, it consists completely of gaseous material.

    A. Sun is                  B. the Sun, which is                   C. is the Sun 
D. that the Sun

Question 12: - “ More coffee?, Anybody?”

                     - “ ______________________________.”


    A. I don’t agree, I’m afraid
     B. Yes, I’d love to         C. Yes, please

D. It’s right, I think

Question 13: . ____________ to the national park before, Sue was amazed to see the geyser.

    A. Being not 
      B. Not having been 
       C. Have not been 
D. Having not been

Question 14: She has to pass all her exams or _____________she would have no holiday.

    A. instead             B. else                                          C. therefore                           D. though

Question 15: In America, when a woman and a man are introduced, shaking hands is up to a woman.

    A. depends on         B. replies on                              C. waits on                          D. congratulates on

Question 16: A few diseases are still___________in the world.

    A. treatable            B. untreatable

                C. treated

             D. untreated

Question 17: That beautiful girl died of an___________morphine.

    A. overweight       B. overhear

              C. overdo

            D. overdose

Question 18: He __________________________me to believe that they had left the district.

    A. made
          B. led



  C. assured

            D. confirmed

Question 19: He was completely_________________________by her tale of hardship.

    A. taken away       B. taken down 


  C. taken in

            D. taken up

Question 20: Uncle Ho’s desire was that our country might______other countries in the world.

    A. be fed up with     B. make use of

C. keep pace with

D. take grand for
Question 21: Sarah is a young girl with________ and a straight nose.

    A. almond-shaped eyes 
B. almond-eyed shape   C. eyes shaped almond       D. almond-shape eyed

Question 22: You shouldn't ___________ to your teacher like that. It was very rude.

A. have talked     B. talk
    C. have be talked
         D. talked

Question 23: Don’t bother me while I___________.
    A. am working      B. was working


C. will work

           D. will have completed

Question 24: Oh, no! My wallet has been __________________________________

    A. robbed
          B. picked

               C. stolen

           D. theft
Question 25: There's someone at the door ___________________________________it.

    A. I'm answering   B. I answer


   C. I'll answer
           D. I answered

Question 26: Bill Gates is probably the best known and most successful_______in computer software.

    A. pioneer
          B. navigator 


   C. generator 

D. volunteer
Question 27: - “ Can I use your motorbike this evening?”

                     - “ ______________________________________”

    A. Of course, you can     B. Of course, you might
   C. It’s my pleasure

D. Do it if you can

Question 28: His father left New York. The doctor suggested he________there.


A. not stayed        B. won’t saty                                C. not stay
D. not go to stay

Question 29: No one died in the accident,________?

    A. didn’t they       B. did he

                           C. didn’t he


D. did they

Question 30: ___________the laser beam is very thin, it is intense enough to drill through the most delicate bones.

    A. When                B. While                                        C. Since
D. Although

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 40.

The White House, the official home of the United States president, was not built in time for George Washington to live in it. It was begun in 1792 and was ready for its first inhabitants. President and Mrs.John Adams, who moved in on November 1, 1800. When the Adamses moved in, the White House was not yet complete, and the Adamses suffered many inconveniences; for example, the main staircase was incomplete, which hindered movement from floor to floor, and the future laundry yard was merely a pool of mud, so wet laundry was hung in the unfinished East Room to dry. Thomas Jefferson, the third president, improved the comfort of the White House in many respects and added new architectural features such as the terraces on the east and west ends.

When the British forces burned the White House on August 24, 1814, President Madison was forced to leave. All the remained after the fire was the exterior walls, the interior was completely destroyed.It was not until December of 1817 that the following president, James Monroe, was able to move into a rebuilt residence. Since then, the White House has continued to be modified but has been continuously occupied by each succeeding U.S president.

Question 31: : Which of the following would be the most appropriate title for this text?
A. George Washington’s life in the White House.   

B. The Early History of the White House.
C. The burning of the White House.              

D. Presidential Policies of Early U.S.Presidents.

Question 32: Why did George Washington not love in the White House?

A. It had been burned by the British.



B. He did not like the architectural features.

C. He did not want to suffer the inconveniences that the Adamses had suffered.

D. Construction had not yet been completed.

Question 33: The word “ inhabitant” in line 2 is closest meaning to:

A. modifications
  B. moves 

C. celebrations 
D. residents
Question 34: It can be inferred from the passage that John Adams was:

            A. the first president of the United States. 
         B. the second president of the United States.
            C. the third president of the United States. 
         D. the fourth president of the United States.

Question 35: What of the White House was not yet complete when the Adamses moved in?

A. main staircase
B. laundry yard 
C. pool 

D. A and B

Question 36: The author most likely discusses the “ staircase” in line 5 in order to:

A. show the elegance of the new White House 

B. explain the architectural features added by Jefferson.

C. provide an example of an inconvenience in the White House.

D. demonstrate what had to be rebuilt after the fire.

Question 37: The word “ forces” in line 9 could best be replaced by:

A. military 

B.effort 

C. power 

D. energy

Question 38: According to the passage, which of the following best describes Thomas Jefferson’s  tenure in the White House?

A. He worked to improve the appearance and convenience of the White House.

B. He had to flee the White House because of  the war with the British.
C. He removed the terraces that had been added by Adams.
D. He was accepting of the many inconveniences.

Question 39:According to the passage, when James monroe came to the White House, it had    been:

A. repressed 

B. reconstructed 
C. relocated 
   
D. reserved 

Question 40: The paragraph following the passage most likely discusses:

 A. the details of the destruction of the White House by the British.

 B. James Monroe’s policies as presidents.
 C. modifications by  presidents who followed.

 D. other presidents who were unable to occupy the White House.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 41: A. invaluable

B. investigate

C. intimacy

D. intensity

Question 42: A. mathematics

B. history

C. literature 

D. physics
Question 43: A. weightless

B. popular 

C. beautiful    

D. tomorrow

Question 44: A. forefather 

B. reassure 

C. surgery

D. vaporize

Question 45: A. undergrowth

B. untreatable

C. solidify

D. conventional
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 46: A paragraph is a portion of a text consists of one or more sentences related to the same idea.                                                                                                                  

                           A                                                B                                     C           D

Question 47: Chemical engineering is based on the principles of physics, chemists, and mathematics.
                                                               A             B                               C                       D

Question 48: I hadn’t understood his directions. However, I asked him to repeat what he’d said.

                                      A                                             B                C                                  D                                                                                                                                                  

Question 49: Although there were a lot of opposition initially, many people now accept that infertile 

                                                  A            B                                                       C                                                       
couples have the right to medical help.

                                                  D                                    

Question 50: With the development of the Internet and the World Wide Web, businessmen do 

                                                A                                                                                  B                                       

not hardly have as much traveling as they used to. 

                C                                                 D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60.

ENVIRONMENTAL ACTIVISTS


Paul Watson is an environmental activist. He is a man who believes that he must do something, not just talk about doing something. Paul believes in protecting endangered animals, and he protects them in controversial ways. Some people think that Watson is a hero and admire him very much. Other people think that he is a criminal.


On July 16th, 1979, Paul Watson and his crew were on his ship, which is called the Sea Shepherd. Watson and the people who work on the Sea Shepherd were hunting on the Atlantic Ocean near Portugal. However, they had a strange prey; instead of hunting for animals, their prey was a ship, the Sierra. The Sea Shepherd found the Sierra, ran into it and sank it. As a result, the Sierra never returned to the sea. The Sea Shepherd, on the other hand, returned to its home in Canada. Paul Watson and his workers thought that they had been successful.


The Sierra had been a whaling ship, which had operated illegally. The captain and the crew of the Sierra did not obey any of the international laws that restrict whaling. Instead, they killed as many whales as they could, quickly cut off the meat, and froze it. Later, they sold the whale meat in countries where it is eaten.


Paul Watson tried to persuade the international whaling commission to stop the Sierra. However, the commission did very little, and Paul became impatient. He decided to stop the Sierra and other whaling ships in any way that he could. He offered to pay $25,000 to anyone who sank any illegal whaling ship, and he sank the Sierra. He acted because he believes that the whales must be protected. Still, he acted without the approval of the government; therefore, his actions were controversial.


Paul Watson is not the only environmental activist. Other men and women are also fighting to protect the Earth. Like Watson, they do not always have the approval of their governments, and like Watson, they have become impatient. Yet, because of their concern for the environment, they will act to protect it.

Question 51: According to the reading, an environmental activist is someone who ____

     A. runs into whaling ship

B. does something to protect the Earth

     C. talks about protecting endangered species 
D. is a hero, like Paul Watson

Question 52: When something is controversial , ____

     A. everyone agrees with it

B. everyone disagrees with it

     C. people have different ideas about it
D. people protect it

Question 53: The members of a ship’s crew are ____.

     A. the men and women who work on the ship
B. the people who work on the airplanes

     C. all of the people on a ship, including the passengers       D. the people who own the ship

Question 54: The main idea of paragraph one is that ____

     A. Paul Watson is a hero to some people 
B. activists are people who do something

     C. Paul Watson is a controversial environmental activist    D. Paul Watson does not believe in talking

Question 55: The Sea Shepherd was hunting ____

     A. the Atlantic Ocean 
B. whales
C. the Sierra
D. Portugal

Question 56: The author implies that Paul Watson lives in ____

     A. Portugal
B. a ship on the Atlantic
C. the Sierra
D. Canada

Question 57: The captain and the crew of the Sierra were acting illegally because ____.

     A. they were not obeying international laws
B. they were whaling


     C. they were killing and selling whales 
D. All of the above are correct

Question 58: In paragraph 3 the phrase “and froze it” refers to ____ .

     A. whale meat
B. the Sierra
C. whales                    D. the Sierra crew

Question 59: The main idea of paragraph 3 is that ____ .

     A. the Sierra sold whale meat in some countries


     B. the people on the Sierra didn’t obey international laws.

     C. the people on the Sierra killed as many whales as they could.

     D. whaling is illegal according to international law.

Question 60: Watson ran into the Sierra because ____ .

     A. he wanted to stop the ship’s crew from whaling  

     B. he was impatient with the government’s actions

     C. he wanted to protect the whales from the whalers


     D. All of the above are correct 


Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

 Question 61: Although he was very tired, he agreed to help me with my homework.

     A. Tired as he was, he agreed to help me with my homework.

     B. Despite being very tired, but he agreed to help me with my homework.

     C. Tired though he was, but he agreed to help me with my homework.

     D. As tired as was he, he agreed to help me with my homework.

Question 62: I’m sure it wasn’t Mr. Phong you saw because he’s in Hanoi.

     A. It couldn’t be Mr. Phong you saw because he’s in Hanoi.

     B. You mustn’t have seen Mr. Phong because he’s in Hanoi

     C. It can’t have been Mr. Phong you saw because he’s in Hanoi.

     D. Mr. Phong mightn’t see you because he’s in Hanoi.

Question 63:  I’m like my mum, whereas my brother looks like my dad.

A. I’m like my mum, whereas my brother takes after my dad.

B. I’m like my mum, whereas my brother takes over my dad.

C. I’m like my mum, whereas my brother takes on my dad.

D. I’m like my mum, whereas my brother takes in my dad.

Question 64: She had only just begun to speak when people started interrupting.

     A. She hardly had begun to speak when people started interrupting.

     B. Hardly she had begun to speak when people started interrupting.

     C. Hardly had she begun to speak when people started interrupting.

     D. She hadn’t begun to speak when people started interrupting.

Question 65: They would have never accepted his money if they had known his plan.

     A. They knew what he wanted to do, so they refused his money.

     B. They agreed with his wishes because they were glad to have his money.

     C. They took the money he offered them without realizing his purposes.

     D. They didn’t know his plan and never took the money from him.

Question 66:  “ Let’s go to the cinema tonight” he suggested

     A. He suggested them to go to the cinema that night
       


     B. He suggested their going to the cinema that night

     C. He suggested they went to the cinema that night       

     D. He suggested that let’s them to go to the cinema that night

Question 67: “You should have finished the report by now,” the boss said to his secretary.

     A. The boss suggested his secretary should have finished the report on time.
     B. The boss scolded his secretary for not finishing the report on time.
     C. The boss reminded his secretary of finishing the report on time.
     D. The boss advised his secretary to finish the report on time.

Question 68: I was on the point of leaving the house when he came.

     A. No sooner had I left the house than he came. 

     B. I had hardly left the house when he came.

     C.When he came I had just left the house.

     D. I was just about to leave the house when he came.

Question 69: "Why don't you get your hair cut, Gavin?" said Adam.

A. Adam advised Gavin to cut his hair.

B. Gavin was suggested to have a haircut.

C. It was suggestable that Adam get Gavin's haircut.

D. Adam suggested that Gavin should have his haircut.

Question 70: Without skilful surgery he would not have survived the operation. 
     A. Had it been for skilful surgery he would not have survived the operation. 

     B. He wouldn't have survived the operation if he hadn't had skilful surgery. 

     C. But for skilful surgery he would not have survived the operation. 

D. With skilful surgery he would have survived the operation.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 71 to 80.

      Face-to-face conversation is two-way process: You speak to me, I reply to you and so on. Two-way (71)______depends on having a coding system that is understood by both (72)______ and receiver, and an agreed convention about (73)______ the beginning and end of the (74) ______. In speech, the coding system is the language like English or Spanish; the convention that one person speaks at a time may seem too obvious to (75)______. In fact, the (76)______ that people use in conversations and meetings are often non-verbal. For example, lowering the pitch of the voice may mean the end of a sentence; a sharp intake of breath may signal the desire to (77)______, catching the chairman’s (78)______may indicate the desire to speak in a formal setting like a (79)______, a clenched fist may indicate anger. When these (80)______ signals are not possible, more formal signals may be needed.

Question 71: A. interchange
B. exchange
C. correspondence
D. communication
Question 72: A. announcer
B. transmitter
C. messenger
D. sender
Question 73: A. signing
B. symbolizing
C. signalling
D. showing
Question 74: A. message
B. topic
C. idea
D. theme
Question 75: A. judge
B. mention
C. recognize
D. notice
Question 76: A. signals
B. symptoms
C. symbols
D. signs
Question 77: A. interchange
B. interfere
C. interrupt
D. intercept
Question 78: A. elbow
B. eye
C. shoulder
D. hand
Question 79: A. chat
B. debate
C. broadcast
D. lecture
Question 80: A. visual
B. auditory
C. verbal
D. sensory
     ---------- THE END -------
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